GIDUVL 35,0$&2 &RPELQDIWLRQV 6 XP PDU\
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6IIDUVL
/IQHXS ID\HW 7IPH | 6FRUH 6F_TIU|"' CgAL’Q SHE | GIHDIV | 7 RYHU | $WV
3 /HVIDNRZVNL * _RUDIHZVNL - ODUIHIXVY O 6DQNVIDN $ = \UJ\NRZVNL
3 /HVIDNRZVNL - *DX]D * _RUDIHZVNL - ODUIHIXV $ = \UJ\NRZVNL
- B6NRFHDV 3 /HVIDNRZVNL * _RUDIHZVN. O 6DQNVIDN $ = \UJ\NRZVNL
- B6NRFHIDV 3 /HVIDNRZVNL - *DX]D * _RUDIHZVN. O = DIDVHN
3 /HVIDNRZVNL * _RUDIHZVNL - ODUHIXV O 6DQNVIDN O = DIDVHN
3 /HVIDNRZVNL - *DX]D * _.RUDIHZVNL - ODUIHIXV O = DIDVHN
- B6NRFHIDV 3 /HVIDNRZVNL * _RUDIHZVNL - ODUIHIXV O =z DIDVHN
35,0%&2
/IQHXS 3IDAHWV 7IPH | 6FRUH GF_FL‘:JIH 32\[’(2 SHE | 6IHDV | 7 RYHU | $VV

5 BRGKH O 6DUDEXID 3 20ZRIRZVNL 7 /Rl = 2V]DN

+DPHUWNL 3 2IZRIRZVNL 7 /Rl 6 2(HNVD = 20V]DN

+DPHWNL 5 /Rl O 6DUDEXID 3 2IZRIRZVNL 6 2(HNVD

+DPHIWNL 5 /Rl 3 2IZRIRZWNL 7 /Rl = 2(V]DN

+DPHWNL 5 /Rl 7 /RI 6 2(HNVD = 2(V]DN

/Rl 5 5RGKH O 6DWDEXUD 7 /RI 6 2HNVD

+DPHIWWNL 5 /RI 5 5RGKH 7 /Rl 6 2(HNVD

5RGKH O 6DIDEXUD 7 /Rl 6 2HNVD = 220V]DN

+DPHIWNL O 6DUDEXUD 3 2IZRIRZVNL 7 /Rl 6 2(HNVD

+DPHWNL 5 /RI 5 5RGKH O G6DUDEXID 7 /RI

+DPHWNL 5 5RGKH 3 2IZRIRZWNL 7 /Rl = 20V]DN
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+DPHWNL 5 /Rl O 6DUDEXID 3 2IZRUIRZVNL = 2(V]DN




